
6𝑥 + 8 = 50

6𝑥 + 8 = 50
       −8    − 8

6𝑥

6
⎯⎯⎯=

42

6
⎯⎯⎯

𝑥 =
42

6
⎯⎯⎯

𝑥 = 7

6𝑥 = 42

Subtract 8 from both sides

Divide both sides by 6
6𝑥

6
⎯⎯⎯=

42

6
⎯⎯⎯

Cross it off

𝑺𝒐𝒍𝒗𝒆 𝒇𝒐𝒓 𝒙

𝑥

3
⎯⎯− 8 = −3

𝑥

3
⎯⎯− 8 = −3

    +8      +8

𝑥

3
⎯⎯× 3 = 5 × 3

𝑥 = 5 × 3

𝑥 = 15

𝑥

3
⎯⎯= 5

Add 8 to both sides

Multiply both sides by 3

𝑺𝒐𝒍𝒗𝒆 𝒇𝒐𝒓 𝒙

Check Answer

Check Answer

   6𝑥 + 8 = 50
6(7) + 8 = 50
    42 + 8 = 50
            50 = 50

  
𝑥

3
⎯⎯− 8 = −3

15

3
⎯⎯⎯− 8 = −3

  5 − 8 = −3
       −3 = −3

6𝑥 + 8 = 50
        6𝑥 = 50 − 8
        6𝑥 = 42
          𝑥 = 7

𝑥

3
⎯⎯− 8 = −3

        
𝑥

3
⎯⎯= −3 + 8

        
𝑥

3
⎯⎯= 5

        𝑥 = 15

Short Form

Short Form
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